Blix Sol Rear Rack

Compatibility

This Rear Rack is designed for Blix Sol models from 2019 and later.

Hardware

2 x Strut Clamp Mount (A)

2 Xx M6 15mm Socket Bolt (B)
2 X M6 12mm Socket Bolt (C)
2 x M5 10m Socket Bolt (D)

4 x M6 Washer (E)

Tools Required

10mm/8mm Combination Wrench (K)

Instructions

2 x M5 Washer (F)

2 x Strut Clamp Bolt (Q)
2 x M6 Nut (H)

2 x Strut Cap (I)

2 x Strut (J)

5mm Allen Key (L)
4mm Allen Key (M)

OliX

Adventure awaits!

1. Assemble the Strut Clamp: Slide the Strut (J) through the Strut Clamp Bolt (G) and slide the
Strut Cap (I) onto the end of the Strut (J). Then, insert the Strut Clamp Bolt (G) into the Strut
Clamp Mount (A) and use the M6 Nut (H) to secure it. (cont.)

www.blixbike.com | 855-655-2549

support@blixbike.com

v.2.20



Blix Sol Rear Rack b”X

Adventure awaits!

Instructions (cont.)

1. Tighten the M6 Nut (H)
using the T0mm side of
the Combination Wrench
(K) while using the 5mm
Allen Key (L) to stabilize
the Strut Clamp Bolt (G).
Repeat this process for
the second strut.

www.blixbike.com | 855-655-2549 support@blixbike.com

v.2.20



Blix Sol Rear Rack b”X

. Adventure awaits!
Instructions (cont.)

- 2. Attach the Strut Clamp to the
Rack: Insert the M6 15mm Socket
Bolt (B) through the top of the
Rack using one M6 Washer (E), and
screw the bolt into the top of the
Strut Clamp Mount (A) using the
5mm Allen Key (L), ensuring the
strut is on the outside of he rack.
Repeat this for the other strut on
the other side of the rack.

3. Attach the Rear Rack to the
Frame: Attach the Rack to the
mounting point on the rear
dropouts of the frame using
one M6 12mm bolt (C) and M6
washer (E) on each side, and
screw the bolts in using the
5mm Allen Key (L)

4. Attach the Strut to the
Frame: Attach the strut to the
mounting points on the frame
using an M5 10mm bolt (D) and
an M5 washer (F) on each side,
and screw the bolts in using the
4mm Allen Key (M).

www.blixbike.com | 855-655-2549 support@blixbike.com
v.2.20



